FE) 7%

AZIL—7  |Ti~w—/ |SAKURA 2RIk CASA HySC s = oA (EES /=Eiva
Tiw—/ 3-1 0-2 1-1 1-0 2 1 1 1 2
SAKURA 1-8 1-4 1-8 0 4 0 —17 5
XLk 2-0 8—-1 1-2 2-1 3 1 0 1
CASA 1-1 4 -1 2-1 1-5 2 1 1 3
HESC 0-1 8—-1 1-2 5—-1 2 2 0 4
BZ/L—7 |,»@av HFC7 x4 |[£5> 3 FCsk# JRR s = ) = [/=Civa
sNa v 0-3 2-1 0-2 1-4 1 3 0 -7 5
HFC7 X% |3-0 -1 1-0 0-1 3 1 0 7 1
73 1-2 1-5 2—-2 1-1 0 2 2 —5 4
FCxk#% 2-0 0-1 2—-2 3-0 2 1 1 4 2
JZR 4 -1 1-0 1-1 0-3 2 1 1 1 3
Con—=7  |&IRSC EFMUTD 774%2—X [CFA vy iy = o EFS [=Civa
&MRSC 0-0 7-0 5-1 5—0 3 0 1 16 1
HUTD 0-0 8—-0 1-14 4 -1 2 1 1 8 3
T4 %=X (07 0-8 1-4 0—-2 0 4 0 —20 5
CFA 1-5 4 -1 4 -1 2-0 3 1 0 4 2
779k 0-5 1-4 2-0 0-2 1 3 0 —8 4
DIIN—T" |&BHZS oAbt d1=F v FCH#EA f =1 o EFS =i
EH%9 1-0 0-0 0-1 1 1 1 0 3
177 0-1 1-7 0-3 0 0 3 —10 4
d1-—F> 0-0 7-1 1-0 2 0 1 7 1
FCipA 1-0 3-0 0-1 2 1 0 3 2




